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Question Number : 1 Question Id : 9593767201 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

Income effect is negative in the case of:
Options:

, % nhormal goods

- % superior goods

-  giffen goods

4 % public goods

= » Dboth superior and public goods

Question Number : 1 Question Id : 9593767201 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 2 Question Id : 9593767202 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

If two commodities are perfect substitutes, the shape of the indifference curve:
Options:
, « Will be a straight line

> % Will aright angle

- % Will slope downwards
4 % will slope upwards

c % will be a parabola

Question Number : 2 Question Id : 9593767202 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 3 Question Id : 9593767203 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
If the shape of demand curve is rectangular hyperbola. the price elasticity is equal to:

Options:
1« 0ne

- % less than one
3 ® Zero
, % greater than one

% lessthan zero

Question Number : 3 Question Id : 9593767203 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 4 Question Id : 9593767204 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Consumer’s surplus is the difference between:

Options:
. « the price that the consumer is willing to pay and what he actually pays

-~ % the income and expenditure

% % total revenue and total cost

4 % supply and demand

= » total revenue and profits

Question Number : 4 Question Id : 9593767204 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 5 Question Id : 9593767205 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Cobweb model is applied to explain the theory of:

Options:
, % Pproduction

- % consumption



5 % employment

4 % distribution
demand. supply and price over long run

Question Number : 5 Question Id : 9593767205 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 6 Question Id : 9593767206 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Under the principle of equi-marginal utility. the equilibrium is the point where:

Options:
MUx MUy
1« Px B Py
MU= MUy
==
o % Px Py
MU= MUy
2 ® Px Py
MUx MUy
<
4 ® Px Py
MUz MUy
c % Px Py

Question Number : 6 Question Id : 9593767206 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
Mirx — MUy
1. & Px Py
MU=x MUy
o ®  Px = Py
MUx MUy

3 ® Px Py



MUx . MUy
<

4 ® Px Py
MUx , MUy
5. % Px Py

Question Number : 7 Question Id : 9593767207 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
If two factors are complementary to each other, then the shape of the isoquant will be:

Options:
, = vertical straight line

-  nght angled shape
- % concave to the origin
4 % convex to the origin

= % horizontal straight line

Question Number : 7 Question Id : 9593767207 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
7 & Fe TH-gHL & I 8, Al FAHE T P gref|

Options:

o  THPIOT A HF
o % 3GIH W IHTIA
4 % 3H T 3cdd

Question Number : 8 Question Id : 9593767208 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1

If the income effect is positive for both the goods X and Y, then the income consumption curve will slope:
Options:
. upward to the right

- % backward to the left

parallel to OX axis

W
®

4 ® downward to the right

= % parallel to OY axis

Question Number : 8 Question Id : 9593767208 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 9 Question Id : 9593767209 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
Revealed preference theory was developed by:

Options:
1 « Prof. P. A. Samuelson

> % James Tobin
= % Hicks-Allen
4 % J. R.Hicks
= » Dupitt

Question Number : 9 Question Id : 9593767209 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 10 Question Id : 9593767210 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Cobb-Douglas production function the elasticity of factor substitution is equal to:

Options:
1. & One

- # WO
=z % four

4 % three



£ ® Zero

Question Number : 10 Question Id : 9593767210 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 11 Question Id : 9593767211 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The only possible equilibrium positions in an Edgeworth production box is where:

Options:
, w Isoquants intersect each other

-  lisoquants are tangent to each other
- % isoquants intersect outside to ridge line
4 % isoquants are parallel to each other

c % Isoquants intersect on the ridge lines

Question Number : 11 Question Id : 9593767211 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 12 Question Id : 9593767212 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The ridge lines are the locus of points of isoquants where marginal product of one of the factor is:

Options:



1.« Zero
- % less than one

- % equaltoone

4 % more than one
= % nhegative

Question Number : 12 Question Id : 9593767212 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 13 Question Id : 9593767213 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Increasing returns to scale is due to:

Options:
1 « existence of external economies

- % existence of external dis-economies

- % oOver expectations of the market conditions
4 % increase in the demand for the product

z % inflation

Question Number : 13 Question Id : 9593767213 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 14 Question Id : 9593767214 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who assumed the "'weak ordering' as a principle to explain the behavior of an ideal consumer?

Options:
1 % Adam Smith

- % Alfred Marshall
3 % Samuelson

4 « J.R. Hicks

c % AITOW

Question Number : 14 Question Id : 9593767214 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 15 Question Id : 9593767215 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
For the firms and industry to be in equilibrium in the long-run. it is essential that. in the long run the
normal price should be equal to the:

Options:
1 % total cost

- % marginal cost
- % average cost
4 % selling costs

marginal and average cost

Question Number : 15 Question Id : 9593767215 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 16 Question Id : 9593767216 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Under dumping. the foreign market demand curve faced by the monopolist is:

Options:
1 % vertical line

- « horizontal line
5 % increasing upward curve
downward sloping curve

c & Concave curve

Question Number : 16 Question Id : 9593767216 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 17 Question Id : 9593767217 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who developed the theory of long-run group equilibrium by means of two demand curves?

Options:
1 % Don Patinkin

> % Hicks
z « Chamberlin
4 % Baumol

= % Pigou



Question Number : 17 Question Id : 9593767217 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 18 Question Id : 9593767218 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The concept of excess capacity is associated with:

Options:
, % perfect competition
-~ % monopoly

5 % duopoly

w 110Nnopo listic competition

mMonopsony

Question Number : 18 Question Id : 9593767218 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 19 Question Id : 9593767219 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who presented the kinked demand curve analysis in non-collusive model to explain price rigidities often
observed in oligopolistic markets?
Options:
1 % Prof. Chamberlin



-  Prof. Sweezy

= % Prof. Allen
4 % Prof. Hicks

c % Prof. Joseph Bertrand

Question Number : 19 Question Id : 9593767219 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 20 Question Id : 9593767220 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which market situation. the firms in a particular industry decide to join together as a single unit for the

purpose of maximizing their joint profits and to share the market?
Options:
, w Perfect competition

-~ % Monopoly
-  Oligopoly
4 % Monopolistic competition

= % Duopoly

Question Number : 20 Question Id : 9593767220 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 21 Question Id : 9593767221 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who first introduced implicitly the marginal principle in distribution?

Options:
1 % Alfred Marshall

« Pigou

% Adam Smith
# Hicks

« David Ricardo

A S

Question Number : 21 Question Id : 9593767221 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 22 Question Id : 9593767222 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Quasi-rent is the:

Options:

, = surplus income over total cost

> % swplus earnings from high fertility land
- % swplus earnings due to rise in demand
4 « income derived from machines and other appliances made by man in the short-run

» Income derived from scarce factors during long run

Question Number : 22 Question Id : 9593767222 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 23 Question Id : 9593767223 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to neo-classical economists. the rate of interest is determined by:

Options:
, = total capital stock

> % total investment
» the demand for and supply of loanable funds
, % Dy the supply of savings and demand for investment

c % Dy the central bank

Question Number : 23 Question Id : 9593767223 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 24 Question Id : 9593767224 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The liquidity trap is that portion of the liquidity preference curve where the people will:
Options:

| « hold money with them inactively as the rate of interest is very low

- % invest their entire money as the rate of interest is high

- % invest their entire money as the rate of interest is low



4 % keep the money for transaction purposes

= » keep the money as precaution

Question Number : 24 Question Id : 9593767224 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 25 Question Id : 9593767225 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In the modern theory of interest, interest rate is determined by:

Options:
, % demand for savings and investment

> o IS and LM curves
- » demand for and supply of loanable funds
4 % marginal efficiency of capital

c % demand for investment

Question Number : 25 Question Id : 9593767225 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 26 Question Id : 9593767226 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



The economist who viewed profits as a dynamic surplus is:

Options:
1 « J.B.Clark

> % G.J. Stigler

- % Stonier and Hague
, % F.H Knight

c % Joseph Schumpeter

Question Number : 26 Question Id : 9593767226 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

forw srelemedr & HATHT F ARl HUAY F FT A ST AT?
Options:

> % AL . T
- % TEIAAT TF geT
, % TF. U9 A8
5 % SAMH® FdeT

Question Number : 27 Question Id : 9593767227 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to F. B. Hawley. the profits are due to:

Options:
1 % introduction of innovation

-  lisk taking nature of the entrepreneur
- % dynamic changes in the economy
4 % monetary policies of the government

= % expectations of uncertainty

Question Number : 27 Question Id : 9593767227 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 28 Question Id : 9593767228 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to the classical economists, wages are equal to:

Options:
1 « subsistence level

- % minimum level

- % equal to the marginal productivity of labour
4 % fair wages
= % equal to the marginal cost

Question Number : 28 Question Id : 9593767228 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 29 Question Id : 9593767229 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
When factors of production are paid according to their marginal products. the total product would be
exactly exhausted according to the:

Options:
, % Cobb-Douglas production function

> « Euler’s theorem

- % Law of variable proportions

4 % Law of returns to scale
5 % Cob-web model

Question Number : 29 Question Id : 9593767229 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 30 Question Id : 9593767230 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Personal income includes all of the following except:

Options:
, % personal savings

personal income taxes

e

2
» dividend payments

4 « undistributed corporate profits

= % transfer payments

Question Number : 30 Question Id : 9593767230 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 31 Question Id : 9593767231 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The difference between Gross National Product (GNP) and Gross Domestic Product (GDP) is:

Options:
1 % excess of subsidies over indirect taxes

- w depreciation

personal disposable income

t
#

4 % excess of indirect taxes over subsidies

c  net foreign income from abroad



Question Number : 31 Question Id : 9593767231 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct : 2 Wrong: 1
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Question Number : 32 Question Id : 9593767232 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In the general equilibrium analysis. Don Patinkin has introduced the concept of:

Options:
, ® money illusion

> « real balance effect

» liquidity preference

4 % ratchet effect

c % {ransaction velocity of money

Question Number : 32 Question Id : 9593767232 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 33 Question Id : 9593767233 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Employment Multiplier' was introduced by:

Options:



1 « R.F. Khan

> % 1. M. Keynes

z % J. R. Hicks
4 % A.C.Pigou

= % N.Kaldor

Question Number : 33 Question Id : 9593767233 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 34 Question Id : 9593767234 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In an inflationary period. the appropriate policy for the RBI would be to:

Options:
1 % reduce cash reserve ratio
> % reduce bank rate

- % extend credit to government

4 « Sell government securities

c % encourage commercial banks to increase their loans

Question Number : 34 Question Id : 9593767234 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Harehifa # 3afr #, RBI & e swgea Af gt
Options:

| » FREE A1 AT g ger
5 % ¥ T AT

5 % T{FR T F/OT 1
, o T SicEforT S
= x TUN=TF bl F Ik HUT 95 F T FcdTgd FAT




Question Number : 35 Question Id : 9593767235 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Transaction demand for money:

Options:
, % Vvaries inversely with income and rate of interest

- % Varies directly with income and rate of interest
varies directly with income and inversely with rate of interest
4 = Varies inversely with income and directly with the rate of interest

c % does not depend on income and rate of interest

Question Number : 35 Question Id : 9593767235 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 36 Question Id : 9593767236 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
An increase in government expenditure will:

Options:
, % shift both IS and LM curves fo the right

> % shift both IS and LM curves to left
not affect the position of LM curve but will shift the IS curve to the right
not affect the position of LM curve but will shift IS curve to the left

= » notaffect the position of IS curve but will shift LM curve to the right

Question Number : 36 Question Id : 9593767236 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 37 Question Id : 9593767237 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The real stock of money in the economy increases due to:
Options:

1 % increase in inferest rates

- % decrease in interest rates

- % Increase in prices
4 « decrease in prices

= % rise in the velocity of money

Question Number : 37 Question Id : 9593767237 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 38 Question Id : 9593767238 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Keynesian concept of multiplier expresses the effect of:

Options:
, % Investment on consumption

- % Propensity to consume on savings



- % income on consumption

4 + Investment on income
c % investment on prices

Question Number : 38 Question Id : 9593767238 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 39 Question Id : 9593767239 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Hicks theory of trade cycle, the downswing starts when:

Options:
, % the business expectations collapse

- % the multiplier hits the ceiling capacity

% % there are financial bottlenecks

4, % themarginal efficiency of capital declines

=  the lagged effects of induced investments are exhausted

Question Number : 39 Question Id : 9593767239 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 40 Question Id : 9593767240 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



If RBI wants to “Sterlize” an inflow of foreign exchange. it should:
Options:
1 % lower the bank rate

- % lower the CRR

-  sell government securities in the open market
4 % increase the rate of interest

= % Dbuy government securities in the open market

Question Number : 40 Question Id : 9593767240 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 41 Question Id : 9593767241 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is the assumption of Adam Smith theory of International Trade?

Options:
, w Perfect mobility of factors between the countries

- % Perfect immobility of factors within the countries
- % Near full employment of factors
4  Labour theory of value

= % Equal productivity of labour between countries

Question Number : 41 Question Id : 9593767241 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 42 Question Id : 9593767242 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who introduced the concept of reciprocal demand?

Options:
1 % Adam Smith

> % David Ricardo
= o 1. S. Mill
4 % Gottfried Haberler

c % Bertile Ohlin

Question Number : 42 Question Id : 9593767242 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 43 Question Id : 9593767243 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Identify the Intra-industry model of International Trade.

Options:
, % Thetheory of absolute advantage

- % The theory of comparative advantage

« Heckscher-Ohlin theory

% Opportunity cost theory

» Neo-Heckscher Ohlin theory

Question Number : 43 Question Id : 9593767243 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 44 Question Id : 9593767244 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The Mint Parity theory of exchange implies a system of:
Options:
, « Iixed exchange rates

5 % flexible exchange rates
- » floating exchange rates
» managed flexibility

= % crawling peg

Question Number : 44 Question Id : 9593767244 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 45 Question Id : 9593767245 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Tariff will always improve the terms of trade of the tariff imposing country except when the elasticity of
the foreign offer curve is:

Options:
1 ® Zero

-  perfectly elastic

- % relatively elastic



4, = relatively inelastic

e % unity

Question Number : 45 Question Id : 9593767245 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 46 Question Id : 9593767246 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is the capital account item of the balance of payments?

Options:

, w Shipping services rendered by foreign vessels

-~ % Dividends received on investments in foreign countries

- » Banking and insurances services rendered by foreign institutions
4  Sale of securities to foreign countries

= % Indemnities received from foreign governments

Question Number : 46 Question Id : 9593767246 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 47 Question Id : 9593767247 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The concept of terms of trade used in offer curve technique is:
Options:
. w Single Factoral Terms of Trade

- % Double Factoral Terms of Trade
3 « Gross Barter Terms of Trade
4 % Net Barter Terms of Trade

% Income Terms of Trade

Question Number : 47 Question Id : 9593767247 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 48 Question Id : 9593767248 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Dualistic economy means the co-existence of:

Options:
1 +« amodern industrial sector with the traditional sector

- % 1ural and urban sectors

- % organized and un-organized sectors
4 % internal and external markets
c % industrial and service sectors

Question Number : 48 Question Id : 9593767248 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 49 Question Id : 9593767249 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The statement ““Economic growth means more output and Economic development means both more output
and changes in technical and institutional arrangements by which it is produced™ is given by:

Options:
1 % Mrs. U. Hicks
5 % J-A Schumpeter

% % A, Madison
» C.P. Kindleberger

s % J. K. Meheta

Question Number : 49 Question Id : 9593767249 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 50 Question Id : 9593767250 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Disguised un-employment exists when:
Options:

, w the total available labour is more than the employed labour

- % available labour is more than the required labour

- % required labour is more than the employed labour

4 « employed labour is more than required labour

= % employed labour is more than seasonal labour

Question Number : 50 Question Id : 9593767250 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 51 Question Id : 9593767251 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The concept of Physical Quality of Life Index (PQLI) was developed by:

Options:
1 % J.K.Mehta

> % K.K. Kurihara
- % Ragnar Nurkse
4 « Morris

c % W. A Lewis

Question Number : 51 Question Id : 9593767251 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 52 Question Id : 9593767252 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who assigned a pivotal role to division of labour in the process of economic development?

Options:
1 % Thomas Malthus

> « Adam Smith
= % David Ricardo



4 % J.S. Mill
= % J1.B.Say

Question Number : 52 Question Id : 9593767252 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 53 Question Id : 9593767253 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Karl Marx theory of surplus value, the ‘organic composition’ of capital means:

Options:
1 ® CIN

> % S/V
z  VI/IC
4 ® V/S
s % (VIS)/C

Question Number : 53 Question Id : 9593767253 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

F ATF F AT qow R &, G F ARwEe gued Ay
Options:

1 & CIV

- & SNV

= # VIC

4% VIS

c % (V + S)IC

Question Number : 54 Question Id : 9593767254 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following programmes is suggested by M. K. Gandhi to create the conditions conducive to
economic equality and achievement of communal harmony?

Options:



w village development programme

» Community development programume

[+

» Sarvodaya programme

i

% National rural employment guarantee programimne

b

% Minimum needs programme

Question Number : 54 Question Id : 9593767254 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 55 Question Id : 9593767255 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Mahatma Gandhi has translated the book *Unto This Last’ into Gujarati which was written by:

Options:
1 + John Ruskin
> % Karl Marx

o % Keynes

4 % Adam Smith

= % Leo Tolstoy

Question Number : 55 Question Id : 9593767255 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 56 Question Id : 9593767256 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who analyzed the materialistic interpretation of history in his economic analysis?

Options:
1 % David Ricardo

- % J.S. Mill
5 % Malthus
4 « Karl Marx

5 % Mrs. Joan Robinson

Question Number : 56 Question Id : 9593767256 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 57 Question Id : 9593767257 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The economist who emphasized to the fiscal policy:

Options:
1 ®% A.P Lemer

- % Dalton
5 % A.C. Pigou
. J. M. Keynes

= % Musgrave

Question Number : 57 Question Id : 9593767257 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 58 Question Id : 9593767258 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
When there is homogeneity within the group and heterogeneity between the groups. the appropriate

sampling method to be used is:
Options:
, w Simple Random Sampling with Replacement

> % Simple Random Sampling without Replacement
- % Multi-stage Sampling
, % Probability Proportional to Size Sampling

=  Stratified Random Sampling

Question Number : 58 Question Id : 9593767258 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 59 Question Id : 9593767259 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The average that can be obtained even graphically is:

Options:
1 % Arithmetic Mean

> o Median
= % Mode
4 % Geometric Mean

c % Harmonic Mean

Question Number : 59 Question Id : 9593767259 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1

ST T 3tET, mear § off e BT ST wear 27

Options:
| % HATET AT
5 o HITCTHRT
2. w

. FONeaT AT

4. % 2

c #® Ellrﬂﬁ HET

Question Number : 60 Question Id : 9593767260 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Given the arithmetic means of the two groups at 50 and 60 whose sizes are 100 and 150 respectively.
the combined arithmetic mean is given by:

Options:
1 & 54
- % 55
3 o 50
4 % 50
c ® 60

Question Number : 60 Question Id : 9593767260 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 61 Question Id : 9593767261 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which one of the following is not true about Geometric Mean?

Options:
, % Itis precisely defined

> % It is based on all the items in the distribution

- % It is particularly useful i finding the average for percentages or ratios



4 « lts value will always be higher than the arithmetic mean

c % Its value is zero if one of the values is zero

Question Number : 61 Question Id : 9593767261 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 62 Question Id : 9593767262 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which one of the following is the relative measure of dispersion?

Options:
, = Range

-~ % Quartile deviation

%z % Mean deviation
4 % Standard deviation

5 « Coefficient of variation

Question Number : 62 Question Id : 9593767262 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 63 Question Id : 9593767263 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The standard deviation of the values 1. 2. 3. 4 and 5 is:

Options:
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Question Number : 63 Question Id : 9593767263 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

1, 2, 3, 4 3T 5, s AAT F ATF A= gl
Options:

1. % 0

=« 1.414
=8 1.5
4% 1.713
c #% 25

Question Number : 64 Question Id : 9593767264 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which one of the following is not true about Lorenze curve?

Options:
, % Itisa graphical method of studying inequality with a square like diagram

> % It was devised by Max O Lorenze
- % When there is perfect equality. the Lorenze curve coincides with the diagonal
4 % When there is perfect inequality. the Lorenze curve coincides with the axes

» Since it is a graphical method. the value of inequality cannot be quantified numerically

Question Number : 64 Question Id : 9593767264 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
AN 9% & a0 H SaTH U Fid AT FIT T Fel 272

Options:

% TF T IAW NG F Y NEAHCT F WTTAT F{ T T ey B
z.ﬁmmﬁwmﬁﬁd canT &g I o

S qUT wAwET @ ¥ A A o, Rt s s g ¥

S U7 HEAAAT @ ¥ A AT 3%, el 9X e g &

I 77 vF FET B § ¥EAET F AF F GEAcHF AT e
5_&%?%%




Question Number : 65 Question Id : 9593767265 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Identify the incorrect statement about Skewness.
Options:
, % Skewness is a measure of symmetry of a distribution curve.

- « Karl Pearson has devised a numerical measure of skewness based on moments.
- % Ihe Skewness can be positive. negative or zero.
4 w Ifthe curve is symmetric, the skewness is zero.

c % Symmefric curve with zero skewness is also called Normal curve.

Question Number : 65 Question Id : 9593767265 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 66 Question Id : 9593767266 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In a symmetrical distribution:

Options:
1 % Arithmetic Mean = Geometric Mean = Harmonic Mean

s Arithimetic Mean = Geometric Mean = Harmonic Mean

M2

o Arithmetic Mean = Median = Mode

Ll

% Arithmetic Mean = Median = Mode

o

% Arithmetic Mean = Median < Mode

Ln

Question Number : 66 Question Id : 9593767266 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 67 Question Id : 9593767267 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In a Mesokurtic distribution. the value of Kurtosis. (p,) is:

Options:
1.9 =3
o W =3
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Question Number : 67 Question Id : 9593767267 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 68 Question Id : 9593767268 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The two regression equations cut each other at right angle when the correlation coefficient between X and Y:

Options:
1 15 equal to zero

> % 1sequalto—1
5 % 1sequal to+1
4 % approaches to infinity

c % isvery high

Question Number : 68 Question Id : 9593767268 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 69 Question Id : 9593767269 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The correlation coefficient is independent of:

Options:
, % change of origin

- % change of scale
- % change of neither scale and origin
4 % change of both origin and scale

c  units of measurement and change of both origin and scale

Question Number : 69 Question Id : 9593767269 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
HEHET 0T q¥ it JEr &<ar gl
Options:
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Question Number : 70 Question Id : 9593767270 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

If the two regression equations are y = 151 — 0.45x and x =—20 + 0.80y. the value of correlation
coefficient is given by:

Options:

1.+ 0.6

> % —0.36



= % 0.36
4 ® —0.6
c ® 0.8

Question Number : 70 Question Id : 9593767270 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

afe o FATHIOT FHEIOT y = 151 - 0.45x HR x = -20 + 0.80y &, A WewY IO
FT AT g

Options:

1« 0.6
> # -0.36
2 % 0.36
4 % -0.6
5 % 0.8

Question Number : 71 Question Id : 9593767271 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Given the cov(XY) =—18. Var(X) = 25 and Var(Y) = 16. the value of correlation coefficient is:

Options:
1 0.9

o> o —0.9
3 % 0.21
4 % —0.21
g % —0.11

Question Number : 71 Question Id : 9593767271 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

T & & cov(XY) = -18, Var(X) = 25 3 Var(Y) = 16, HgHaY 0T & A grem|
Options:

1 % 0.9

> o =0.9

z % 0.21

4 ® -0.21

s % -0.11

Question Number : 72 Question Id : 9593767272 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Given the demand function of a commodity, Q =49.35 — 0.235P and the price of the conunodity at 10.
the estimated quantity demanded of the commodity is:

Options:



1 « 47 units

> % 4.7 units

%z % 51.7 units
4 % 5.17 units
s % 49.115 units

Question Number : 72 Question Id : 9593767272 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
1 & & Bl 9vT #7 #eT Fed, Q = 49.35 -0.235P § 3R 9vw F AT 10 W E A

quyg Fr Mg AT AT grem|

Options:

| v 47 SR

o w 4.7 FFEA
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Question Number : 73 Question Id : 9593767273 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
India at the time of Independence chose to adopt:

Options:
, w acapitalist economy

- % @ comumunist economy
-  amixed economy
4 % aliberal economy

= » afeudal economy

Question Number : 73 Question Id : 9593767273 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
TEaT g9 §FT 89T & o
Options:
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Question Number : 74 Question Id : 9593767274 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

During the initial years of planning era in India. ‘Commanding Heights’ were given to:
Options:

, % private sector

-  Dbublic sector
- % foreign sector
4 % Joint sector

5 # urban sector

Question Number : 74 Question Id : 9593767274 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 75 Question Id : 9593767275 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Mixed economy implies the co-existence of:

Options:

, % domestic and foreign sectors

- % industrial and agricultural sectors

% % 1ural and urban sectors

4 « private and public sectors

= % small scale and large scale sectors

Question Number : 75 Question Id : 9593767275 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 76 Question Id : 9593767276 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The *Gandhian Plan” was formulated by:

Options:
1 % Mahathma Gandhi

5 % M.N.Roy

- % Dadabai Naoroji

4 % V.K.R.V.Rao

» Shriman Narayan Agarwal

Question Number : 76 Question Id : 9593767276 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 77 Question Id : 9593767277 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following problems is not considered to be true about Mixed economy in India?

Options:
, = The successful private sector units such as insurance and banks were nationalised.

- % The private sector has corrupted the bureaucracy.
- % lmports were permitted in low priority area.
4 % The public sector units were working inefficiently.

=  Bigbusiness houses and big land lords were not the major beneficiaries of the system.



Question Number : 77 Question Id : 9593767277 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 78 Question Id : 9593767278 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The poverty study that has suggested the use of ‘Agricultural Labour Price Index’ as a deflator is given by:

Options:
1 « P. K. Bardhan

- % P.D.Ojha

= % V.M. Dandekar and N. Rath
4 % B.S. Minhas

= % Montek Singh Ahluwalia

Question Number : 78 Question Id : 9593767278 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 79 Question Id : 9593767279 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following statements was not made by the Tendulkar Committee on ‘Methodology of
Poverty Estimation” in India?

Options:



L

The Poverty Line Basket (PLB) of goods and services defined in 1973-74 remained unchanged.

B i

The accelerated economic growth of 1990s has not changed the consumption pattern of the poor in India.
-

The use of Consumer Price Index for Agricultural Labourers underestimated the extent of rural poverty
4 %

The existing studies on poverty estimation in India assumed that the expenditure on basic social services
like health and education would be provided by the state.

5"
In 2004-05. 37% of Indian population was living below the poverty line as against the Planning
Commission estimates of 27.5%.

Question Number : 79 Question Id : 9593767279 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

A H FlST AT FAF dgoAH AT GFN T H atar & avora 1 Framrefa o
Agr Tear arar ar?

Options:
R
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Question Number : 80 Question Id : 9593767280 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The Committee on the Distribution of Incomes and Levels of Living' in India was headed by:

Options:

; % M. Mukherjee

> « P. C. Mahalanobis
- % N.S.Iyengar

4 % C.N. Vakil

s % P R.Brahmanda

Question Number : 80 Question Id : 9593767280 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 81 Question Id : 9593767281 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
N. S. Iyengar and others used the Bayesian approach to measure poverty in:

Options:

1 % Andhra Pradesh
- % Kerala

= % Tamil Nadu

4 « Karnataka

= % Chhattisgarh

Question Number : 81 Question Id : 9593767281 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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1 ® &rr?,r'a*c:?r
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Question Number : 82 Question Id : 9593767282 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The celebrated paper ‘India’s Sticky Economy: And Some Non-economics of Non-Performances” was

written by:

Options:

,  Raj Krishna

- % Jagadish Bhagawati

- % AmartyaK. Sen



4 % S.D. Tendulkar
¢  Montek Singh Ahluwalia

Question Number : 82 Question Id : 9593767282 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 83 Question Id : 9593767283 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Economic Survey. the growth rate of GDP during 2016-17 will be:

Options:
; % 8-8.5%

Question Number : 83 Question Id : 9593767283 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

HTeYeh WHRTUT & TER, I§ 2016-17 & fov GDP #r gfa gx &r:

Options:
, % 8-85%
, % 9-95%
s = 10 %

i 7-775%
=% 75-8 %

Question Number : 84 Question Id : 9593767284 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following statements is not correct?

Options:



, % InIndia, the food mflation is usually ascribed to production shortfalls.
2 %

Projections indicate that the present levels of cereals production already exceed the likely demand at the
end of the Twelfth Plan.

- % Cereals provides 50% of calorie intake of the people in India even now.

4 % Even the poor people are reducing the share of income spent on food items.

= 4
Prices of milk. eggs. fish and meat have not contributed significantly to food inflation after 2008-09.

Question Number : 84 Question Id : 9593767284 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 85 Question Id : 9593767285 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Economic Survey in 2016. Govt. wants to attain the fiscal deficit target of in 2016-17.

Options:
1 % 3.9%

Question Number : 85 Question Id : 9593767285 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
aY 2016 & e T & HFHR, I§ 2016-17 & SN WFR & g e
(fiscal deficit) T =1&T &

Options:

% 3.9%



> % 45 %
2 ¢ 35 %
L 49 %
s % 3%

Question Number : 86 Question Id : 9593767286 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The regulator for the commodity futures market in Agricultural commeodities in India is:

Options:
, % The Commission for Agricultural Costs and Prices (CACP)

-~ % The Ministry of Agriculture
-  The Forward Markets Commission (FMC)
4 % The Committee on Agricultural Reforms

= » Agricultural Produce Marketing Comumittees

Question Number : 86 Question Id : 9593767286 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
SRd H Y I0IT H 90T TSI TR H HFIHF Hia £7?

Options:

| » T SEE TF FeA HART (CACP)

L x PN FIAET

. » FTET TSR HERT (BRES Al FHRE) (FMC)
, » T GUR wfAfE

. » P 3US fauure wiAfaa

Question Number : 87 Question Id : 9593767287 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The main objective of land reforms in India is:

Options:
, % toprovide self-employment to the farmers

-~ % mechanization of agriculture

to provide security to the tiller of the soil

L]
S

, % toprovide irrigation facilities to the cultivable land

= % tobring more land under cultivation



Question Number : 87 Question Id : 9593767287 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
9RE H HfF GuURT & 7T 3897 gl
Options:
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Question Number : 88 Question Id : 9593767288 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is not needed to increase agricultural productivity in India?

Options:
,  Large size farms

- w Focused research and investments in agriculture
% Access to modern farm inputs

4 % Assured Iirigation facilities

= » Innovative marketing system

Question Number : 88 Question Id : 9593767288 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 89 Question Id : 9593767289 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to Economic Survey in 2016, the RBI is expected to meet inflation target by March 2017.
Options:

1 ® 3%



o # 4 9%
2 o 5%
4 % 6 %
c #® T 86

Question Number : 89 Question Id : 9593767289 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

I 2016 & TTAe FARTUT F HFAN, RBI &1 HI&TAR AT 2017 T JEEhifa g

Options:

L% 3%
> % 4 %
5v 5%
4% 6%
5% 7 %

Question Number : 90 Question Id : 9593767290 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is not a Rural Development and Infrastructure programme being implemented in India?

Options:
, » Indira Awaas Yojana (IAY)

- % Pradhan Mantri Gram Sadak Yojana (PMGSY)
- » Backward Regions Grant Fund (BRGF)
4 % Nirmal Bharat Abhiyan (NBA)

=  Rajiv Awaas Yojana (RAY)

Question Number : 90 Question Id : 9593767290 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| % ST HTETH TS (IAY)

., » FO F AH FSF A=A1 (PMGSY)
_ , TOST & Jefere At (BRGF)

, » AT HG HAFAT (NBA)

c v T=E AEE AT (RAY)

Question Number : 91 Question Id : 9593767291 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
The Micro, Small and Medium Enterprises (MSMEs) Development Act was enacted in which year?

Options:
1 % 2005

5> 2006
s % 2007
4 % 2008
c % 2009

Question Number : 91 Question Id : 9593767291 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

H&H, oY T AeIA 3¢aA (MSMEs) faemw sfafaas i frw av sRfaafaa frar amar ar

Options:

1. % 2005
> « 2006
z. % 2007
4 % 2008
s, % 2009

Question Number : 92 Question Id : 9593767292 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is not the feature of the New Industrial Policy of 19917

Options:

, % Abolition of industrial licensing for all large scale units except 18 categories of industries.
- % Permitting foreign investment up 51% (upto 100% in EOUs) in high priority industries.

- % Automatic approval for advanced foreign technology agreements.

4, % Strengthening the public enterprises in high priority and strategic sectors.

=  Abolition of MRTP Act which stifled competition and encouraged monopolies.

Question Number : 92 Question Id : 9593767292 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 93 Question Id : 9593767293 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which of the following is not true about the National Food Security Act (NFSA)?

Options:
. « The NFSA was notified on 10 September 2012.

-~ % It provides food and nutritional security to people at affordable prices.

- w It covers 75 per cent of the rural population and up to 50 per cent of the urban population.

4 %

The Act lays special focus on nutritional support to pregnant women. lactating mothers as well as to children.
5 %

Under the Act, Antyodaya Anna Yojana (AAY) households are entitled to get 35 kg per household per

111ﬁ11+11 at {"T'I"\.f';.l"t;Tﬂft '!'\1";.“‘1:.:‘

Question Number : 93 Question Id : 9593767293 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
T WeT FIET AAFTA (NFSA) F ar F S0 & T T A8 872

Options:
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Question Number : 94 Question Id : 9593767294 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Economic survey in 2016. service sector’s growth in 2015-16 seen at

Options:
1 % 10.5%

o % 9.7%



2 o 9.2%
4 % 8.9%
c % 6.8%

Question Number : 94 Question Id : 9593767294 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
aY 2016 & AT FARIUT & HJAR, 2015-16 & Far & & #r g g5 79|

Options:

% 10.5%
> % 9.7%
2 ¢ 9.2%
L % 8.9%
= % 6.8%

Question Number : 95 Question Id : 9593767295 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In Union Budget 2016. the allocation under Prime minister Fasal Bima Yojana is Rs

Options:

1 % 4000 crore
- % 5000 crore
= o 5500 crore
4 % 06000 crore
c % 06500 crore

Question Number : 95 Question Id : 9593767295 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
2016 &F FegIT T3¢ H, TIHAT FOF AT AT & FFT T FT M9 foar a1 B
Options:

. x 4000 T
, % 5000 U5
. » 5500 05
. » 6000 05
- » 6500 U5

Question Number : 96 Question Id : 9593767296 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
According to Union Budget presented in 2016. a sum of Rs is allocated to MINERGA.

Options:



1 % 40.000 crore
> « 38,500 crore
% 35.000 crore
4 R 45.000 crore
= ® 39.500 crore

Question Number : 96 Question Id : 9593767296 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

2016 # 9¥ga &% & =87 geic #, MNERGA & faw 3 smafea R o &
Options:

| % 40,000 53
, v 38,500 &z
. » 35,000 &Iz
, » 45,000 iz

- % 39,500 #z

Question Number : 97 Question Id : 9593767297 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Money Multiplier is the ratio between:

Options:

> % Mi /Mg
. % Mo/ M;
v Mz /M
- % M3/Mj

Question Number : 97 Question Id : 9593767297 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
7T 10T farees & &7 e 82

Options:

. % Mo/Mq
- u M1/Mg
= % Mg/M3
+ v M3/Mg
= MMy



Question Number : 98 Question Id : 9593767298 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

According to Union Budget presented in 2016. how many new Navoday Vidyalyas will be opened in India?
Options:

1 62

o W 72
T 32
4 R 02
=

% 102

Question Number : 98 Question Id : 9593767298 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
2016 # w&qd Fd 718 F a1 H, Ra # Faa AU 6y ey @ S

Options:

1 « 62
> % 12
z % 82
4 % 92
s % 102

Question Number : 99 Question Id : 9593767299 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The Goods and Services Tax (GST). bill which was introduced in Parliament on 19™ December 2014,
was recommended by:

Options:
1 % Parthasarathi Shome Committee

- % Rangarajan Commiftee

- % Raja Chelliah Committee

4 « Vijay Kelkar Task Force

% Malhotra Comumittee

Question Number : 99 Question Id : 9593767299 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

19 fewaY 2014 #T §Hg # & I&g U9 a1 &Y (GST) A6 faedges &r aegeran
forEet 1 o1

Options:

| # 9TERTY oH wfafy




> % TR afafy
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Question Number : 100 Question Id : 9593767300 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The Uyjit R. Patel Committee appointed on 12 September 2013 was asked to give suggestions to strengthen:

Options:
, = Fiscal policy framework in India

-  Monetary policy framework in India

- % Banking sector in India

4 % Insurance sector
c % MSMEs sector

Question Number : 100 Question Id : 9593767300 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 101 Question Id : 9593767301 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘What was the previous name of Moti Bag (garden) of Raipur?

Options:

. Sapre garden
1. ® E
- % Jawahar garden
- % Adinbara garden
4 % Goerge IT garden

c  Victoria garden

Question Number : 101 Question Id : 9593767301 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
W#ﬁﬁrwmgﬂmﬂmm oqT?

Options:
| % T ST

5 ® Sdigl ST

= % UlSeTaqr aTer

, % ST ST aeT
5 v THEIET &TeT

Question Number : 102 Question Id : 9593767302 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who is the writer of the book called “Ratanpur Mahatmya™?
Options:

, % Raj Singh

-  Gopal Kavi

% Shiv Raj

L]

% Jai Singh

% None of the other options

'

Question Number : 102 Question Id : 9593767302 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
[ATR FEFT JEAF & oE@F Pl 87

Options:
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Question Number : 103 Question Id : 9593767303 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who is the main worker of Swarajya party in Chhattisgarh?
Options:

, w» Pt Lochan Prasad Pandey

- % Chhedi Lal

=z #% Pt. Ravi Shankar Shukla

4 « E.Raghwendra Rao

= % None of the other options

Question Number : 103 Question Id : 9593767303 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
SeaTHeE H FTEST g & T FHhwar P 47

Options:

| % 9. ST TEIE 92
> % 3:3”;5 o
q. et e

3 ®

L v 5 THEs 19
.« ¥ fawedl 7 ¥ Fg A&

Question Number : 104 Question Id : 9593767304 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
National poet Makhan Lal Chaturvedi’s famous poem “Pusp ki Abhilasha™ was written in which Jail of

Chhattisgarh? First line of this poem is “Chah Nahi Main Surbala Ke Gahne Mai Guatha Jaun™.
Options:
| % Nagpur

> % Raipur
-  Bilaspur

, » Raigarh



= % None of the other options

Question Number : 104 Question Id ;: 9593767304 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Teg FHiF ARG o1l Tgaer s & “To7 H AfFeT Faar oo & G sw 7§ g e
$H Fiaar H yuH 9fed off "Tg F& A FIEer F @S ;A A5

Options:
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4.53 II!EE.
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Question Number : 105 Question Id : 9593767305 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which Tahsil of Chhattisgarh. the prominent freedom fighter Gajadhar Sao was connected?

Options:
, w» Durg

- % Raipur
- » Bilaspur
4 % Dhamtari

None of the other options

Question Number : 105 Question Id ;: 9593767305 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
BoaTH IS & g FTEa3aT §IOH BT 4T emeY 919 5w agdfe & de9g a2

Options:

. v ¥0 Twedt # ¥ F5 A4

Question Number : 106 Question Id ;: 9593767306 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1



Where 15 Menka dwar or Gate?
Options:
1 ® "-351].{1'1

» % Madnpur

- % Dhanpur

4 « Chaitur Garh

s % Ram Garh

Question Number : 106 Question Id : 9593767306 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
HAFT I T TG Fgl 87

Options:

1_&@

Question Number : 107 Question Id : 9593767307 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In 1987, one of the prominent idol searched by the Archeological Department. which was made up by
several part of different animals. In which place was this idol kept by government?

Options:
1 % Malhar

> % Ratanpur
» Talagaon
4 ® Sirpur

= % None of the other options

Question Number : 107 Question Id : 9593767307 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 108 Question Id : 9593767308 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which district Satdhara watertall 1s?
Options:

, w» Raipur

> % Kanker

« Bilaspur

A

~« Dantewada

e

% None of the other options

'

Question Number : 108 Question Id : 9593767308 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

AU S99 e & & 82

Options:

1. = 2
o W
feemagT

T #® ]
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Question Number : 109 Question Id : 9593767309 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which famous temple in Chhattisgarh was constructed by king Veersen?

Options:

, % Mahamaya temple
5 % Bhoramdeo temple

- % Rajiv Lochan temple

» Ma Bumbleshwari temple

= % None of the other options

Question Number : 109 Question Id : 9593767309 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1

T RO IR SearEee F g e Ay & FEor s a2

Options:

, » FeAEr AfR

. % HFEST AfK

- » UfaE e AfR

AT gFaeeay Al

« ¥ TFeal # § % 74

%

Question Number : 110 Question Id : 9593767310 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
How many kilometer lies Mahanadi basin in Chhattisgarh?

Options:

, % 70858
-~ % 05580
= % 6356
4 % 2380

=  None of the other options

Question Number : 110 Question Id : 9593767310 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

ToaTEIE H AEIEr 8fiT # TEar fras e 7 37

Options:

| % 70858
. = 65580
5 » 6356
. = 2380

. v ¥0 Twedt # ¥ F5 A4

Question Number : 111 Question Id ;: 9593767311 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

From which Hindu tithi. Rajim Kumbha mela commences?
Options:

, « Megh purnima

-~ % Kartik pumima

- % Poush purnima



, = Baisakh purnima

= % None of the other options

Question Number : 111 Question Id : 9593767311 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
TTSH F37 A fw foeg A @ 9rtsr gar 27
Options:
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Question Number : 112 Question Id : 9593767312 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Where i1s Hazrat Moose Khan Dargaha situated?

Options:

1 R Kabirdham (Kawardha)
- % Rajnandgaon

o % Durg

4 Ratanpur

= » None of the other options

Question Number : 112 Question Id : 9593767312 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
goRd AW N & SETE Fal 12U 872
Options:

| % FERUH (FTu)
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4 < 2
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Question Number : 113 Question Id : 9593767313 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Jaydev Baghel was related to which field of work?

Options:
1 « Craft

- % Music

z % Literature

4 % Medicine

= % None of the other options

Question Number : 113 Question Id : 9593767313 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

O TUS FE FUST ¥ gEoT a7
Options:
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Question Number : 114 Question Id : 9593767314 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Another name of Mahanadi is:
Options:

1 % Shuni

> % Suvarn Rekha

5  Chitrotpala

4 % Mandakini

= % None of the other options

Question Number : 114 Question Id ;: 9593767314 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 115 Question Id : 9593767315 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
In which monument of Sirpur. the ‘Panch Tantra’ based famous stories are depicted?

Options:

, % Anand prabhu kuti vihar

- % Swastik vihar
3 o Teevar dev vihar

, % Laxman temple

= % None of the other options

Question Number : 115 Question Id : 9593767315 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Question Number : 116 Question Id : 9593767316 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
From which of the following does the literary reference of Rishabh Teerth of Chhattisgarh is derived?

Options:
, » Raghuvansha

> « Mahabharat
- % Adipurana
4 % Arthshatra

= » None of the other options

Question Number : 116 Question Id ;: 9593767316 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Options:

IEIJEEET
o v HEIENG
=z ® :.J

4 R Hﬂ'&l;ﬂi
. x ¥ fFedl A F FIg AL

Question Number : 117 Question Id : 9593767317 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

The Gundadhur University is situated at:
Options:
, w Bilaspur

-  Jagadalpur

= % Bhilai
% Janjgir

= % None of the other options

Question Number : 117 Question Id : 9593767317 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
e Feafamrew # E g

Options:
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Question Number : 118 Question Id : 9593767318 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
‘Paritranay Sadhunam’ is a modal sentence of which dept. of Chhattisgarh administration?
Options:

, « Police dept.

- % Culture and tourism



= % Education

4 w Forest dept.

= % None of the other options

Question Number : 118 Question Id : 9593767318 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 119 Question Id : 9593767319 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
The Hindi meaning of ‘Salwa judum’ is:

Options:
1 « Shanti Ki Or Lauto

> % Public awareness
= % Tribal education
4 % Vande Matram

= » None of the other options

Question Number : 119 Question Id : 9593767319 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 120 Question Id ;: 9593767320 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
Out of the following, which scheduled tribe celebrate “Kak Sad Parab™?

Options:
1 ®% Kamar

-  Abujhmadia

w DBaiga
4 % Pahari korwa
= % None of the other options

Question Number : 120 Question Id : 9593767320 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
iCr—icircr =gk gcor i1y HAHEIT FAAST “FIHAE W' HATS g7

Options:
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Question Number : 121 Question Id : 9593767321 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who celebrate “Bali Parab™?
Options:

1 « Halba

- % Oraoh
= % Kamar
4 % Kanwar

c % None of the other options

Question Number : 121 Question Id : 9593767321 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 122 Question Id : 9593767322 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who speaks “Baigani” dialect?

Options:
1 #% Korwa

> % Korku
= % Kamar
4 % Gond

=  None of the other options

Question Number : 122 Question Id : 9593767322 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Options:

1wm
FFH
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Question Number : 123 Question Id ;: 9593767323 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who perform “Gaur Dance™ (Bison Dance)?

Options:
1 % Oraon

-~ % DBaiga
= % Kamar
4 « Madia
= % None of the other options

Question Number : 123 Question Id : 9593767323 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Options:
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Question Number : 124 Question Id : 9593767324 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Jamidar (landlord) of the Sonakhan estate of Chhattisgarh. belonged to which scheduled tribe?

Options:
1 ®% Kanwar

5 of Binjhwar

= % Gond

4 % Halba

= % None of the other options

Question Number : 124 Question Id : 9593767324 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 125 Question Id : 9593767325 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
“Dhumalkuria” youth dormitory belongs to which of the following scheduled tribe?

Options:

1 % Muria
> % Madia
= % Kamar
4 « Oraon

= » None of the other options



Question Number : 125 Question Id : 9593767325 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
AT HqqRT Aol H “YAFRAT JAFE & =i @ of?

Options:
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Question Number : 126 Question Id : 9593767326 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

What was the minimum support price of ‘A’ grade paddy in the year 2014-15 in Chhattisgarh state?
Options:

, % Rs 1350 per quintal

-  Rs 1400 per quintal
= % Rs 1470 per quintal
4 % Rs 1425 per quintal

= » None of the other options

Question Number : 126 Question Id : 9593767326 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
T 2014-15 H Todide U= & ‘A’ 35 & U1 & ~gadH THAYS Hod 47 o772

Options:

. % & 1350 9fy BEea
5« ® 1400 9fF Faea
5 » ® 1470 9fF Faea
4 » ® 1425 9fF Faea
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Question Number : 127 Question Id ;: 9593767327 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

What percentage of subsidy can be provided to small and marginal farmers under
*National Micro Irrigation Mission™?

Options:



1w 75 percent
5 % 60 percent
5 % 50 percent
4 % S0 percent

= % None of the other options

Question Number : 127 Question Id : 9593767327 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 128 Question Id : 9593767328 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
What was the total production of sugarcane in the year 2012-13 in Chhattisgarh state?

Options:
1 % 32.60 thousand tonnes

> « 37.30 thousand tonnes
% % 38.67 thousand tonnes
4 % 38.88 thousand tonnes
= % None of the other options

Question Number : 128 Question Id : 9593767328 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
aY 2012-13 H SAlE T H 3Te F1 Fof 3¢9 fohaall AT?

Options:
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Question Number : 129 Question Id : 9593767329 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
How many districts are covered under “National Horticulture Mission™ in Chhattisgarh state?

Options:
1. = 27

o ® 24

4 ¢ 19
= » None of the other options

Question Number : 129 Question Id : 9593767329 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
TodTHIe H ‘TS 3elietehl 3 & 3eaed fohae forer onfder fohe a3 27

Options:
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> % 24
z % 20
4 v 19
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Question Number : 130 Question Id : 9593767330 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which district of Chhattisgarh has covered the maximum area of forest?
Options:

1 # DBastar

-  Narayanpur

5 » Koriya
4 % Sukma

= % None of the other options

Question Number : 130 Question Id : 9593767330 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 131 Question Id : 9593767331 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the class has given the higher number of ration card in Chhattisgarh state?
Options:

, w Antyodaya (pink)

5 of Priority (blue)

z R General (brown)
, % Disabled (green)
= % None of the other options

Question Number : 131 Question Id : 9593767331 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 132 Question Id : 9593767332 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
How many project division are working for forest development in Chhattisgarh state?

Options:
1 % Four

o o BSeven
=z % Ten
4 % Three

= % None of the other options



Question Number : 132 Question Id : 9593767332 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 133 Question Id : 9593767333 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which is Biggest Pat of Chhattisgarh?
Options:

1 % Main Pat

> % Jarang Pat

5 % Samri Pat
4 « Jashpur Pat

= % None of the other options

Question Number : 133 Question Id : 9593767333 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 134 Question Id : 9593767334 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
One third of total disabled population of Chhattisgarh state lives only in the following two district:

Options:
, % Surguja and Raigarh

- % Bilaspur and Korba



2 % Bastar and Koriya

4 « Raipur and Drug

= % None of the other options

Question Number : 134 Question Id : 9593767334 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 135 Question Id : 9593767335 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
What is the percentage of protected forest to total area in Chhattisgarh?

Options:
1 o 40.21

> % 43.13
3 ® 50.00
4 % 32.00

= % None of the other options

Question Number : 135 Question Id : 9593767335 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| v 40.21
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- # 50.00
4 32.00
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Question Number : 136 Question Id : 9593767336 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
If a member of Janpad Panchayat quitting the Janpad and start living in other Janpad. then what will happen?

Options:
1 + He shall not remain member

> % He shall remain member

- » He will complete this term
4, % Janpad Panchayat will decide in this matter

= % None of the other options

Question Number : 136 Question Id : 9593767336 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 137 Question Id : 9593767337 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
What 1s correct about the minimum & maximum no. of members?

i Gram Panchayant 10-20 member
I1. Gram Panchayant 10-15 member
ITI. Janpad Panchayant 10-20 member
IV. Janpad Panchayant 10-25 member
V.  Zila Panchayant 10-35 member
VI. Zila Panchayant 10-30 member

Options:

@ % HE ¥

, w IL IV, VI
; » LIV, VI
, % ILILV
s LIV V

Question Number : 137 Question Id : 9593767337 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 138 Question Id : 9593767338 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Which is not included in obligatory taxes imposed by Gram Panchayat?

2 Light tax, light arrangement provided by Gram Panchayat
T Professional tax
III. Tax on sarais/dharmshalas
IV. Water tax
V. Market fees
VI. Fees on bullock cart stand
Options:
o o E IG 10

o w IV, V, VI

s » IL IV, VI
4w LIOLV
s LILV

Question Number : 138 Question Id : 9593767338 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 139 Question Id : 9593767339 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Who of the following compared the Collecter to a tortoise on whose back stood the elephant like Govt. of India?
Options:

, % Sir George Campbell
- % Sir William Wilson

- % The Imperial Gazetteer of India

4  Ramsay McDonald

= % None of the other options

Question Number : 139 Question Id ;: 9593767339 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 140 Question Id : 9593767340 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who chairs the annual meeting of the chief secretaries of all the states?

Options:
L« Cabinet Secretary

» % Home Secretary of Govt. of India

=z % Home Minister
4 % Prime Minister
= % None of the other options

Question Number : 140 Question Id : 9593767340 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 141 Question Id : 9593767341 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Udanti sanctuary is situated at the boundary of which state?
Options:

, % Madhya Pradesh

o B Bihar
= % Maharashtra
4 « Odisha

= % None of the other options

Question Number : 141 Question Id ;: 9593767341 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 142 Question Id : 9593767342 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

Which of the following tribes of Chhattisgarh is identified as extremely backward tribe by the central
government?

Options:
1 ® Kol

o o Kamar
=z % Halba
4 % Kanwar

% None of the other options

Ln

Question Number : 142 Question Id ;: 9593767342 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 143 Question Id ;: 9593767343 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
What percentage of water is estimated under surface water in Chhattisgarh state?

Options:
1 « 80.6 Percent

- #% 75.7 Percent
= % 82.5 Percent
4 % 76.0 Percent

= » None of the other options

Question Number : 143 Question Id : 9593767343 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
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Question Number : 144 Question Id : 9593767344 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
“Save girl. Educate girl” plan was launched in Chhattisgarh on:

Options:
1 % 20 Jan. 2015

» 22 Jan, 2015
% 23 Jan. 2015
4 R 26 Jan. 2015

= » None of the other options

Question Number : 144 Question Id ;: 9593767344 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:
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Question Number : 145 Question Id : 9593767345 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1

When was state woman commission constituted?
Options:

1 « 24 Mar. 2001

- % 206 Jan. 2002



- % 15 Aug 2010
4 % 26 Jan. 2011

= » None of the other options

Question Number : 145 Question 1d : 9593767345 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 146 Question Id : 9593767346 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
When was the National Rural Livelihood Mission (NRLM) introduced in Chhattisgarh?
Options:

, v 1Apr. 2013

- % 20ct, 2014
2 R 26 Jan, 2013

4 % 15 Aug, 2014

c % None of the other options

Question Number : 146 Question Id : 9593767346 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Options:

| v 1 319 2013

, 2 3 2014

- % 26 S 2013
4 % 15 37TET 2014
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Question Number : 147 Question Id : 9593767347 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Correct: 2 Wrong: 1
Which is a major Jalashay projet in Chhattisgarh state?

Options:
, % Sukhanal Barrage

- u Ghumariya Barrage
o % Mongara Barrage
4 % Saradih Barrage

» None of the other options

Question Number : 147 Question Id : 9593767347 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 148 Question Id : 9593767348 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
How many forest division are approved by the Government of India for scientific management of forest of
Chhattisgarh state?

Options:
1 ® 32

o W 33
3. ¢ 34
E 35

= % None of the other options

Question Number : 148 Question Id : 9593767348 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 149 Question Id : 9593767349 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
“Manthan—Award” received by the Government of Chhattisgarh is related to which of the followings?

Options:
, % Increase in milk-production

- % Increase in rice-production
-  Computerization of public distribution system
, % Road Transport

= » None of the other options

Question Number : 149 Question Id : 9593767349 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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Question Number : 150 Question Id : 9593767350 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
Who was awarded Sanskrit Bhasha Samuman in the year 2014 in Chhattisgarh?

Options:
, % Shri Ganga Ram Paikra

> « Dr. Ramakant Shulkla
- % Shri Vibhudeep Nanda
4 % Shri Ambar Singh Bhardwaj

= % None of the other options



Question Number : 150 Question Id : 9593767350 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Correct: 2 Wrong: 1
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